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Model Test 4 (General Tamil) - TNPSC Group 2 (A)
1. jPait jPa gaj;jyhy; jPait jPapDk; 
mQ;rg; gLk; - ,f;Fwl;ghtpy; 
gapd;Wte;Js;s mzp 

A) nrhy; gpd;tUepiyazp 

B) nghUs; gpd;tUepiyazp 

C) nrhw;nghUs; gpd;tUepiyazp 

D) gpwpJ nkhopjyzp 
2. nghUj;Jf: 

1. flndd;g - Gspkhq;fha; 
2. ey;yit - $tpsk; 
3. vy;yhk; - Njkh 
4. fldwpe;J - fUtpsq;fha; 

A) 2431   B) 3142 

C) 4321   D) 1234 
3. nghUj;Jf: 

1. FwpQ;rp - Kay;> khd; 
2. Ky;iy - Gyp> fub 
3. kUjk; - Kjiy> Rwh 
4. nea;jy; - vUik> ePh;eha; 

A) 2143   B) 2134 

C) 4132   D) 2143 
4. Fuy;tsj;ij Nkk;gLj;Jk; %ypif 

A) JhJtis  B) Qhdg;gr;rpiy 

C) Fg;igNkdp  D) fw;whio 

5. “kPJhz; tpUk;Ngy;” vd;wth; 
A) fk;gh;   B) xsitahh; 

C) ts;Sth;  D) jpU%yh; 

6. „rpj;jpuf;fhug;Gyp‟ vd;wiof;fg;gl;lth; 
A) kNfe;jputh;kd; B) ee;jpth;kd; 

C) Nfhg;ngUQ;Nrhod; D) FNyhj;Jq;fd; 

7. ;Njthuk;‟ vd;gJ 
A) ,f;fhyj;J ,irj;jkpo;Ehy; 

B) ,ilf;fhyj;J ,irj;jkpo;Ehy; 

C) Kw;fhyj;J ,irj;jkpo;Ehy; 

D) rq;ff;fhyj;J ,irj;jkpo;Ehy; 

8. khjhZgq;fp vd miof;fg;gLgth; ahh;? 

A) fk;gh;   B) ghujpahh; 

C) tPukhKdpth;  D) jpUts;Sth; 

9. ;xd;Wnfhyhk;‟ vd;Dk; jpUg;gjpfk; ghb 

,we;j gps;isia vOg;gpath;? 

A) Qhd rk;ge;jh; B) jpUehTf;furh; 

C) Re;juh;   D) khzpf;fthrfh; 

10. cyfk;> caph;> flTs; Mfpa %d;iwAk; 

xUq;Nf fhl;Lk; fhtpak; vdj; jpU.tp.f 

$WtJ 

A) fk;guhkhazk; B) rpyg;gjpfhuk; 

C) nghpa Guhzk; D) kfhghujk; 
11. chpa tpilia vOJf: 

Kj;JtPug;gd; Ml;rpf;fhyk; 

A) ehd;fhz;L  B) Ie;jhz;L 

C) Vohz;L  D) Mwhz;L 

12.  „vy;yh kdpjh;fisAk; xNu khjphpahf 
elj;JtJ rkj;Jtk;‟ vd;wth; 
A) nghpahh;  

B) mz;zy; mk;Ngj;fh; 

C) fhe;jpabfs; 

D) jpU.tp.f 
13. Kjy; rka fhg;gpak; vJ? 

A) kzpNkfiy  B) rpyg;gjpfhuk; 

C) tisahgjp  D) Fz;lyNfrp 
14. nghUj;jkhd tpiliaj; Njh;T nra;f: 

„njs;S jkpo;eil rpd;dQ;rpwpa 

,uz;lbfs;‟ – jpUf;Fws; Fwpj;J ,g;gbf; 
$wpath; ahh;? 

A) jpU.tp.f  B) xsitahh; 

C) ghujpahh;  D) ghujpjhrd; 
15. tpahrhpd; ghujj;ijj; jOtp vOjg;gl;l 

Ehy; 

A) nghpaGuhzk;  

B) jpUtpisahlw;Guhzk; 

C) ghQ;rhyprgjk; 

D) Qhdujk; 
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16. „Kd;Woi miuadhh;‟ – vd;w ngahpy; 
miuadhh; vd;Dk; nrhy;ypd; nghUs; 

A) Ch;   B) murd; 

C) MW   D) ehL 

17. „nrUmLNjhs; ey;yhjd;‟ vdg;ghuhl;LtJ. 
A) njhy;fhg;gpak; B) mfj;jpak; 

C) ghapuk;   D) ed;Dhy; 
18. jpUtpisahlw; Guhzj;jpw;F 

ciunaOjpath;. 

A) mbahh;f;F ey;yhh; 

B) mUk;gjTiuf;fhuh; 

C) e.K. Ntq;flrhkp 

D) er;rpdhh;f;fpdpahh; 
19. murpd; fPo;j;jpirr Rtb Ehyfk; 

mike;Js;s ,lk; 

A) nrd;id  B) kJiu 

C) rpjk;guk;  D) jQ;ir 
20. epyj;jpYk; mlh; cg;Gj;jd;ik ePhpYk; 

thOk; gwit 

A) G+ehiu  B) md;dk; 

C) nfhf;F  D) FUF 
21. gbj;Jj; Njwpdhd; vd;gJ 

A) tpidnar;rk;  

B) njhpepiy tpidnar;rk; 

C) Fwpg;G tpidnar;rk; 

D) Kw;nwr;rk; 

22. fpsp fy;yhy; mbgl;lJ – czh;r;rpj; 
njhluhf khw;Wf: 

A) vd;Nd ! fpsp fy;yhy; mbgl;lJ 

B) M ! fpsp fy;yhy; mbgl;lJ. 

C) fpspah mbgl;lJ. 

D) me;Njh fpsp fy;yhy; mbgl;lJ. 
23. vOtha; xU nraiyg; gpwiuf; nfhz;L 

nra;tpg;gJ. 

A) jd; tpidj; njhlh;  

B) gpwtpidj; njhlh; 

C) cld;ghl;Lj; njhlh;  

D) nghUs; khwh vjph;kiwj; njhlh; 
24. gpd;tUk; ,yf;fzf; Fwpg;Gf;Fhpa 

nghUj;jhr; nrhy;iyj; Njh;f: 
cUtfk; 

A) ghjkyh;  B) mbkyh; 

C) Njd;jkpo;  D) nkhopaKJ 

25. jkpofj;jpd; Nth;l;];nthh;j; - vd 
miof;fg;gLgth; 

A) fk;gjhrd;  B) thzpjhrd; 

C) fz;zjhrd;  D) ghujpjhrd; 

26. „ehlfr;rhiynahj;j ew;fyhrhiynahd;W 
ePLyfpy; cz;Nlh epfo;e;J‟ – ahh; $w;W? 
A) gk;ky; rk;ge;jdhh; 

B) rq;fujhR Rthkpfs; 

C) ftpkzp  

D) ghpjpkhw;fiyQh; 

27. nghUs; jUf 

rJuq;fr; Nrid 

A) ahidg; gil  

B) Fjpiug; gil 

C) Njh;g; gil   

D) ehy;tifg; gil 

28. „ngUkhs; jpUnkhop‟> KFe;jkhiy‟ - 

,e;E}y;fs; vOjg;gl;l nkhop 

A) jkpo;> tlnkhop 

B) tlnkhop> Mq;fpyk; 

C) ,yj;jPd;> fphPf;F 

D) jkpo;> ,yj;jPd; 
29. vz;gJ tpOf;fhL jpuhtpl nkhopf;$Wfis 

nfhz;l Ehy; 

A) kiyahsk;  B) jkpo; 

C) njYq;F  D) fd;dlk; 
30. gpd;tUk; ,yf;fzf;Fwpg;Gf;F nghUe;jpa 

nrhy;iyj; Njh;e;njLf;f: 
chpr;nrhw;nwhlh; 

A) neLehtha;  B) edp fbJ 

C) ed;Djy;  D) epd;Nfs; 
31. nghUe;jhj xd;iwj; njhpT nra;f: 

A) ehybahh;      B) ehd;kzpf;fbif 

C) gonkhop  D) fypj;njhif 
32. ew;wpiz ------------ rpw;nwy;iyAk; ------------ 

Ngnuy;iyAk; nfhz;l Ehy; 

A) 4,8   B) 3,6 

C) 9,12   D) 13,31 

33. gpd;tUtdtw;Ws; rhpahdijf; fhz;f: 

I) el;G vOj;Jfis ,d vOj;J vd 

,yf;fzk; $WfpwJ 

II) vOj;JfSf;Fs; el;G cz;L> ,dk; 

,y;iy 



 

3  

 

A) I    

B) II 

C) I,II    

D) ,tw;wpy; vJTkpy;iy 

34. 47 vd;gjd; jkpo; vz; vd;d? 

A) fv   B) qv 

C) Rv   D) Uv 

35. ,ul;ilf; fpstp my;yhj nrhy; vJ? 

A) jzjz   B) gygy 

C) fzfz  D) rsrs 
36. xspg;glk; vLf;Fk; Kiw fz;Lgpbj;j Mz;L 

A) 1830   B) 1840 

C) 1810   D) 1820 

37. ,e;jpa ehl;il nkhopfspd; „fhl;rpr;rhiy‟ 
vdf; Fwpg;gpl;lth;. 

A) mfj;jpaypq;fk; B) Fw;whyypq;fk; 

C) itj;jpaypq;fk; D) ehfypq;fk; 
38. jkpoh; tsh;j;j Ez;fiyfspy; Kd;dzpapy; 

epw;Fk; fiy 

A) Ngr;Rf;fiy  B) Xtpaf;fiy 

C) rpw;gf;fiy  D) fl;llf;fiy 

39. “ehis vd; jha;nkhop rhFkhdhy; - ,d;Nw 
ehd; ,we;J tpLNtd;” – vd;wth;. 
A) ghujpahh;  B) n~y;yp 

C) ghujpjhrd;  D) ,u#y; fk;rNjt; 
40. tPukhKdpth; gpwe;j ehL 

A) ghhpR   B) ,j;jhyp 

C) ,q;fpyhe;J  D) Rtpr;rh;yhe;J 

41.  „epyj;jpDk; nghpNj thdpDk; cah;e;jd;W‟ 
vd;W jiytp jiytd; kPjhd el;ig 
tpae;J ghLtjha; mike;j ghlypd; Ehy; 

A) ew;wpiz  B) Iq;FWEhW 

C) FWe;njhif  D) mfehDhW 
42. ,NaRngUkhdpd; tsh;g;Gj; je;ij ahh;? 

A) me;Njhdpahh;  B) #ir 

C) jhtPJ   D) NgJU 

43. jpUj;njhz;lh; Guhzk;‟ vDk; 
nghpaGuhzj;;Jf;F KjDhyhf mike;jJ 
vJ? 

A) jpUj;njhz;lj;njhif  

B) jpUthrfk; 

C) jpUke;jpuk;   

D) jpUf;Nfhitahh; 

44. nghUj;jhjij vOJf: 
c.Nt.rh. gjpg;gpj;j Ehy;fs; 

A) cyh   B) Nfhit 

C) gps;isj;jkpo ; D) guzp 

45. fypq;fj;Jg;guzp ghlg;gLk; ghtif 

A) rpe;JtpUj;jk;   

B)fl;lis fypj;Jiw 

C) MrphpatpUj;jk; 

D) fypj;jhopir 

46. fztidj; Njb miye;j rq;ffhyg; 

ngz;ghw; Gyth; 

A) fhf;ifg; ghdpahh; 

B) fhiuf;fhyk;ikahh; 

C) nts;sp tPjpahh; 

D) eg;griyahh; 
47. nghUj;Jf 

1. 2k; Ntw;Wik - xg;G> vy;iy> 
VJ 

2. 4k; Ntw;Wik - ePq;fy;> xg;G> 
vy;iy> vJ 

3. 5k; Ntw;Wik - Mf;fy;> 
mopj;jy;> 
miljy; 

4. 7k; Ntw;Wik - nfhil> gif> 
el;G> jfT 

A) 3 4 1 2    B) 3 4 2 1  

C) 4 3 2 1   D) 4 3 1 2  

48. ty;ypdk; vq;F kpfhJ? 

A) mJ + nrhy;   

B) jz;zPh; + ghid 

C) Nka;e;jd + gRf;fs; 

D) Rit + ghh;j;jd 

49. gpd;tUtdtw;Ws; jtwhdJ vJ? 

A) md;gfj;J 
,y;yh 

- md;G + mfj;J + 
,y;yh 

B) 
td;ghw;fz; 

- td;ghy; + fz; 

C) 
td;ghw;fz; 

- td;ik + ghy; + fz; 

D) jspHj;jw;W - jspHj;J + mw;W 
50. Mw;Wthh; Mw;wy; grpahw;wy; mg;grpia  

khw;Wthh; Mw;wypd; gpd; - ,f;Fwspy; 
KjypU rPh;fspy; te;Js;s vJif vd;d 
tif? 

A) nghopg;G vJif B) ,iz vJif 

C) x&c vJif  D) $io vJif 
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51. „me;jkhd;‟ – vt;tif nkhop 
A) jdpnkhop   

B) njhlh;nkhop 

C) nghJ nkhop   

D) XnuOj;J xUnkhop 
52. nghUj;Jf: 

1. epwg;gz;G - rJuk; 
2. tbtg;gz;G - fhuk; 
3. msTg;gz;G - nrk;ik 
4. Ritg;gz;G - miu 

A) 2143   B) 1423 

C) 3142   D) 2341 
53. Kl;ilapl;lJ Nrtyh ngl;ilah? 

A) jpiz tO  B) ghy; tO 

C) tpdh tO  D) kuG tO 
54. epd;w rPhpd; <w;wirAk; tUk;rPhpd; 

KjyirAk; xd;wpAk; xd;whkYk; tUtJ 

A) mir   B) rPh; 

C) jis   D) mb 
55. nghUe;jhjJ fhz;f: 

A) eP   B) ePaph; 

C) ePh;   D) ePq;fs; 

56. ey;ye;Jtdhh; nea;jy; fypapy; ghbag; 

ghly;fs; 

A) gjp%d;W  B) Kg;gj;J %d;W 

C) gjpndhd;W  D) E}W 

57. u\;a ehl;bd; Gfo;ngw;w vOj;jhsh; 

A) thy;l; tpl;kd; B) ypNahlhy;];lha; 

C) fypy; fpg;uhd;  D) [hd; gd;ad; 

58. njhd;D}y; tpsf;fk; vd;Dk; ,yf;fz 

E}iy ,aw;wpath; 

A) tPukhKdpth;  B) gtde;jp Kdpth; 

C) mfj;jpah;  D) er;rpdhh;f;fpdpah; 

59. cyfk; Njhd;wpaNghNj Njhd;wpa jkpio 

mjd; njhd;ik fUjp „vd;WKs njd;jkpo;‟ 
vdf; $wpath; 

A) jpUehTf;furh;  B) njhy;fhg;gpah; 

C) fk;gh;   D) jpUts;Sth; 
60. vl;Lj;njhif Ehy;fSs; Gwk; gw;wpad 

vit?  Vd khztd; Mrphpahplk; tpdTtJ. 

A) mwptpdh  B) mwpahtpdh 

C) nfhsy; tpdh  D) nfhil tpdh 
61. jkpopy; XnuOj;J xU nkhop ------- cs;sd. 

A) ehw;gj;jpuz;L  B) Ik;gj;jpuz;L 

C) mWgj;jpuz;L  D) vOgj;jpuz;L 

62. „gpUq;fuhrk;‟> „Njfuhrk;‟ – ve;j 
%ypifapd; NtW ngah;fs; 

A) Fg;igNkdp  B) fhpryhq;fz;zp 

C) fwpNtg;gpiy  D) fw;whio 

63. “gRTk; fd;Wk; Njhl;lj;jpy; Nka;e;J 
nfhz;bapUf;fpd;wd” ,j;njhluhdJ 
vk;nkhop tifiar; rhh;e;jJ? 

A) jdp nkhop  B) nrk;nkhop 

C) njhlh; nkhop  D) nghJ nkhop 
64. c.Nt. rhtpd; jopo;g;gzpiag; ghuhl;ba 

Nkiyehl;lth;   

A) Nfhyhpl;[;  B) Nthh;l;];nthh;j; 

C) fPl;];   D)#ypay; tpd;Nrhd; 

65. gj;Jg;ghl;by; ghz;ba neLQ;nropaid 

jiytdhf nfhz;L ghlg;gl;l E}y; vJ 

A) 
jpUKUfhw;Wgil 

- kJiufhQ;rp 

B) kiygLflhk; - gl;bdg;ghiy 

C) neLney;thil - kJiufhQ;rp 

D) Ky;iyg;ghl;L - FwpQ;rpg;ghl;L 
66. mg;g+jpabfs; gpwe;jT+h; 

A) jpUtOe;J}h;  B) jpUthjT+h; 

C) jpq;fSh;  D) jpUehtY}h; 

67. chpa tpiliaj; Njh;e;njOJf. „mbfs; 

ePNu mUSf‟ vd;wth; ahh;? 
A) rPj;jiyr; rhj;jdhh; 

B) ,sq;Nfhtbfs; 

C) jpUj;jf;fj; Njth; 

D) ehjf;Fj;jdhh; 

68. „#iy‟ vd;gJ 
A) fz; Neha;  B) tapw;W Neha; 

C) ,ja Neha;  D) fOj;J Neha; 

69. Js;sy; Xiriaf; nfhz;l E}y; vJ? 

A) ghpghly;  B) fypj;njhif 

C) ew;wpiz  D) FWe;njhif 

70. fk;guhkhazk; ……………… E}y; 

A) Kjy; E}y;   

B) ehlfE}y; 

C) topE}y;   

D)nkhopngah;g;G E}y; 

71. ,e;jpahtpYs;s fhLfspy; msitf; Fwpf;f 

A) Mwpy; xU gq;F 
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B) vl;by; xU gq;F 

C) ehd;fpy; xU gq;F 

D) %d;wpy; xU gq;F 

72. ,yf;fz E}y;fSs; kpfg; gioikahdJ 

vJ? 

A) ahg;gUq;fhyf; fhhpif 

B) jz;bayq;fhuk; 

C) njhy;fhg;gpak; 

D) ed;D}y; 

73. „kzE}y;‟ vdg; Gfog; ngw;wJ 
A) rpyg;gjpfhuk; 

B) rPtf rpe;jhkzp 

C) fk;guhkhazk; 

D) Fz;lyNfrp 

74. kJiu kPdhl;rpak;ikaplk; Kj;Jkzp 

khiyia ghprhf thq;fpath; - ahh;? 

A) guQ;Nrhjp Kdpth; 

B) FkuFUguh; 

C) ef;fPuh; 

D) rPj;jiyr; rhj;jdhh; 
75. ty;ypdk; kpFk; ,lk; vJ? 

A) tpspj;njhliu mLj;J tUk; ty;ypdk;. 

B) XnuOj;J xUnkhopapy; tUk; ty;ypdk; 

C) vOtha;njhlhpy; tUk; ty;ypdk; 

D) ck;ikj; njhifapy; tUk; ty;ypdk; 
76. MLthah? vd;Dk; tpdhtpw;F ghLNtd; 

vd;W tpilahff; $WtJ. 

A) tpdh vjph; tpdhjy; tpil 

B) cw;wJ ciuj;jy; tpil 

C) cWtJ $wy; tpil 

D) ,dnkhop tpil 
77. cUtfk; vJ? 

A) kyh;g;ghjk;  B) GUttpy; 

C) Kj;Jg;gy;  D) kyub 

78. ckWg;Gythpd; fhyk; 

A) fp.gp. ,uz;lhk; E}w;whz;L 

B) fp.gp. gjpNdohk; E}w;whz;L 

C) fp.gp. Ie;jhk; E}w;whz;L 

D) fp.gp. gjpd;%d;whk; E}w;whz;L 

79. „MGj;jpud; ehL mile;j fhij‟ 
kzpNkfiyapy; …………….. fhijahf 

cs;sd 

A) ,UgjhtJ 

B) ,Ugj;J ehd;fhtJ 

C) ,Ugj;NjohtJ 

D) ,Ugj;njhd;whtJ 

80. %d;whk; ee;jpth;kd; ve;E}ypd; ghl;Lilj; 

jiytd;? 

A) cyh   B) me;jhjp 

C) fyk;gfk;  D) guzp 

81. “ntWj;j Nfs;tp tpsq;F Gfo;f;fgpyd;” – 
vdf; fgpyiug; Gfo;e;jth; ahh;? 

A) ef;fPuh;   

B) ,sq;fPudhh; 

C) ngUq;Fd;W}h;f;fpohh; 

D) eg;griyahh; 

82. ………… kd;dd; ahidf;fl;Nra; khe;juQ; 

Mthh; 

A) Nru   B) Nrho 

C) ghz;ba  D) gy;yt 

83. mfehD}w;wpy; 6>16 vd;w vz;fshf tUk; 

jpiz 

A) ghiy   B) FwpQ;rp 

C) nea;jy;  D) kUjk; 

84. „fpwpj;Jt rkaj;jhhpd; fiyf;fsQ;rpak;‟ 
vdg; Nghw;wg;gLtJ 

A) Njk;ghtzp   

B) ,ul;rz;a ahj;hPfk; 

C) ,ul;rz;a kNdhfuk;  

D) fpwpj;Jtpd; mUs;Ntl;ly; 

85. nghUj;Jf: 

I) q A) 7 
II) r B) 10 
III) v C) 3 
IV) a D) 4 

I II III IV 

A) d c b a 

B) d c a b 

C) c d b a 

D) c d a b 

86. nkd;njhlHf; Fw;wpaYfuj;ijj; NjHe;njL 

A) Gw;W   B) fr;R 

C) ge;J   D) nrhj;J 
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87. jtwhdJ fhz; 

A) nghUshF ngah; - ntw;wpiy el;lhd; 

B) FzthF ngah; - nts;is 
cLj;jpdhd; 

C) njhopyhF ngah; - nghq;fy; cz;lhd; 

D) ,lthF ngah; - cyfk; Nghw;wpaJ. 

88.  “FyDilikapd; fw;Gr; rpwe;jd;W” ,lk; 

ngw;Ws;s E}y; vJ? 

A) ehybahh;   

B) Vyhjp 

C) jphpfLfk;   

D) KJnkhopf;fhQ;rp 

89. „fy;yhh; mwptpyhjhh;‟ vd;W $Wk; E}y; 
A) ehybahh;  B) jpUf;Fws; 

C) ,d;dh ehw;gJ D) Vyhjp 

90. ……………… vd;g csNth fUtpahw; 

fhyk; mwpe;J nrapd; 

A) mUtpid  B) ey;tpid 

C) jPtpid  D) jd;tpid 

91. Vyhjp ……………… ntz;ghf;fisf; 

nfhz;Ls;sJ 

A) vOgj;njhU  B) vz;gj;njhU 

C) Ik;gj;njhU      D) Kg;gj;njhU 

92. “fz;tdg;Gf; fz;Nzhl;lk;> fhy;tdg;Gr; 

nry;yhik” ,lk;ngw;Ws;s E}y; 
A) jphpfLfk;  B) ehybahh; 

C) ehd;kzpf;fbif D) rpWgQ;r%yk; 

93. FUjpf; nfhil jUgth;fSf;F> mf;FUjp 

kPz;Lk; ………. ehl;fSf;Fs; clypy; 

Rue;JtpLk; 

A) 30 ehl;fs;  B) 25 ehl;fs; 

C) 3 khjq;fs;  D) 21 ehl;fs; 

94. jkpoh;fspd; jw;fhg;G tpisahl;Lfspy; xd;W 

A) rpyk;ghl;lk;  B) xapyhl;lk; 

C) VWjOTjy;  D) fgb Ml;lk; 
95. Nkhfduq;fspd; jkpo; xypj;Jf;nfhz;L 

,Uf;Fk; nghUs;fs; 

A) thndhyp  B) ghtuq;fNkil 

C) njhiyf;fhl;rp D) midj;Jk; 

96. “,ul;ilf; fpstpNghy; ,ize;Nj thOq;fs; 

gphpe;jhy; nghUspy;iy” vd;wth; ahh;? 
A) Kbaurd;  B) Rujh 

C) thzpjhrd;  D) fz;zjhrd; 

97. “Nghyr; nra;jy;” gz;ig mbg;gilahf 
nfhz;l fiy 

A) rpw;gf; fiy  B) Ngr;Rf;fiy 

C) ehlff;fiy  D) Xtpaf;fiy 
98. itia ehltd; ahh;? 

A) Nrud;   B) Nrhod; 

C) ghz;bad;  D) gy;ytd; 
99. jtwhd tpiliaj; Njh;T nra;f: 

A) rpyg;gjpfhuk; - ifapyhakiy 

B) fk;guhkhazk; - rpUq;fpNguk; 

C) Njk;ghtzp – tsd; 
D) rPwhg;Guhzk; - ke;juhryk; 

100.  “vdf;F kpf tpUg;gkhd ,yf;fpak; 
xd;W cz;nld;why; mJ 

fypq;fj;Jg;guzpNa” – ahh; $w;W? 
A) jpU.tp.f  

B) uh.gp.NrJg;gps;is 

C) NguwpQh; mz;zh 

D) [p.A.Nghg; 
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Model Test 4 (General English) - TNPSC Group 2 (A)
1. Select the correct option to complete the given 

sentence: 

If I had worked hard I __________? 

(A) Would have passed in my exam 

(B) Will have passed in my exam 

(C) I could have passed in my exam 

(D) I would pass in my exam  

2. The following lines are taken from the poem : 

“O Listen to the vale profound Is overflowing 

with the sound” 

(A) English words 

(B) Sonnet – 112 

(C) The Solitary Reaper 

(D) O Captain my Captain 

3. “O no! it is an ever fixed mark  

That looks on tempests and is never shaken” 
What does the poet compare „true love‟ to,? 

(A) An ocean  (B) A cyclone  

(C) A Light house  (D) A tempest 

4. Where did the little boy invite the giant? 

(A) To the bank of a river 

(B) To the hell  

(C) To the Mountain 

(D) To His garden-The Paradise 

5. Why did Bassanio need money? 

(A) To marry Portia 

(B) To run a business 

(C) Since he was a spendthrift  

(D) To exile Antonio 

6. Match the following from Column A with 

Column B: 

Column A Column B 

(a) Migratory 

birds 

1. A little boy of 

fourteen 

 

(b) Hubert 

(c) Serge 

(d) Sam 

2. Celine‟s 
husband 

3. Goldy 

4. Changed 

Kumar‟s heart 
 (a) (b) (c) (d) 

(A) 1 3 4 2 

(B) 2 4 3 1 

(C) 4 1 2 3 

(D) 1 4 2 3 

7. Choose the right „preposition‟: 
The papers are to be prepared ______ a month. 

(A) by    (B) on 

(C) within    (D) in 

8. “Caught Sneezing is adopted from a short story 

by _______ . 

(A) Famida Y. Basheer  (B) Oscar Wilde 

(C) Robert Frost   (D) D.H. Lawrence 

9. Find correct blending word for „Education + 

Entertainment': 

(A) Educament   (B) Edutainment 

(C) Edument  (D) Eduenterment 

10. What does the word „seclusion‟ mean? 

(A) being together  (B) being united  

(C) being alone  (D) being partial 

11. “Djinn of all deserts” said the Horse - What 

does Djinn mean? 

(A) a busy man   (B) a magic man 

(C) a fraud man  (D) an idle man 

12. Match the following words in Column A with 

their meanings in Column B: 

Column A Column B 

(a) Sacred 

(b) Dignity  

(c) Enticing  

(d) Squander 

1. spend 

wastefully 

2. tempting 

3. pride 
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4. divine 

 (a) (b) (c) (d) 

(A) 1 2 4 3 

(B) 4 1 3 2 

(C) 2 1 4 3 

(D) 1 3 2 4 

13. Kumar bought his flat in his late 

(A) twenties  (B) thirties 

(C) forties   (D) fifties 

14. Find out the author of the autobiography of “My 

Experiments with Truth” 

(A) Nehru    (B) Gandhiji 

(C) Indira Gandhi  (D) Narendra Modi 

15. Romeo and Juliet was written by 

(A) Donte 

(B) Marlow 

(C) Dryden 

(D) William Shakespeare 

16. Choose the correct blending word from the 

given options for “television + broad cast” 

(A) telebroad  (B) broadvision 

(C) telecast  (D) castvision 

17. Choose the correct phrase to complete the 

sentence: 

Dravid is famous _______ test cricket. 

(A) for playing  (B) on playing 

(C) in playing  (D) by playing 

18. Choose the best synonym from the options 

given for the underlined word in the sentence 

Malar felt elated and decided to give her best. 

(A) sorrow 

(B) happy 

(C) very happy  

(D) very happy and excited 

19. Identify the compound sentence from the 

options below. 

(A) Karthi is so intelligent to get a job 

(B) Karthi is intelligent. He will get a job 

(C) Karthi is intelligent and so he will get a job 

(D) Being intelligent he will get the job 

20. Find out the verb from the following underlined 

word: 

“The Roar of a lion would make all sheep 

shudder”. 
(A) Closer   (B) Shiver 

(C) Shining   (D) Sluggish  

21. Find out the figure of speech used in this line 

from the options given below : 

“He lifted his head from his drinking as cattle 

do” 

(A) Alliteration   (B) Metaphor 

(C) Simile    (D) Allusion 

22. Annie Louisa walker was educated in  

(A) Kannada   (B) France 

(C) India    (D) Ontario 

23. What sort of the instruments does sculptor use? 

(A) Knife and axe 

(B) Sword and spare 

(C) Hammer and chisel 

(D) Bow and arrow 

24. _______ is probably the most famous Indian 

woman to defy the British. 

(A) Lakshmibai   (B) Lalitha 

(C) Latha    (D) Radha 

25. We ran as if to meet the moon: 

Choose the figure of speech from the options 

given 

(A) Metaphor   (B) Personification 

(C) Simile    (D) Oxymoron 

26. Match the correct Suffix with root words : 

A B 

(a) Love 

(b) Kind 

(c) Beauty 

(d) Demonstrate 

1. ness 

2. ful 

3. tion 

4. ly 

 (a) (b) (c) (d) 

(A) 4 1 2 3 

(B) 4 2 3 1 

(C) 1 4 2 3 

(D) 3 2 4 1 

27. Choose the sentence which is in Adverbs of 

Manner from the options given. 

(A) He walked forward 

(B) Tomorrow will be a working day  

(C) Alexander fought bravely 
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(D) I had given enough money 

28. Identify the sentence pattern of the following 

sentence: 

The poet tells a story to the children. 

(A) SVOC   (B) SVIODO 

(C) SVOA   (D) SVDOIO 

29. What is the plural form for the word:  

Lioness 

(A) Liones   (B) Lions 

(C) Lionees   (D) Lionesses 

30. Change the underlined word into verb in the 

given sentence: 

Charu is a beautiful girl. 

(A) Beauty   (B) Beautician 

(C) Beautify  (D) Beautifying 

31. Choose the correct word from the options given: 

The manager melted on hearing the news. 

(A) became liquid 

(B) gradually appeared 

(C) gradually disappeared 

(D) became sympathetic 

32. Fill in the blank with correct question tag:  

The boy did not write the examination 

________? 

(A) didn‟t he?  (B) did he? 

(C) shall he?  (D) isn‟t he? 

33. Fill in the blank with the correct tense from the 

options given below: 

If I ________ there I would have attended the 

function. 

(A) was   (B) were 

(C) have been there (D) had been there 

34. Find out the odd one 

(A) slow   (B) calm 

(C) success  (D) good 

35. “Where the mind is led forward by thee”? 
Whom does the word „thee‟, refer to? 

(A) Soul    (B) Man 

(C) Earth   (D) God  

36. Who wrote the book „The Discovery of India‟?  
(A) Vallabhai Patel 

(B) Mahatma Gandhi  

(C) Jawaharlal Nehru  

(D) Nethaji 

37. „Saki‟ - the author of the story „The open 
window‟ is the pen-name of ________ 

(A) Guy de Maupassant  

(B) Budyard Kipling 

(C) James Herriot  

(D) Hector Hugh Munro 

38. “Where words come out from the depth of truth  

Where tierces striving stretches its arms towards 

perfection”  

In which poem do these lines occur?  

(A) No men are foreign  

(B) Where the mind is without fear 

(C) The cry of the children 

(D) Going for water 

39. Fill in the blank with suitable Articles: 

I met ________ man who Was my relative.  

(A) the    (B) a  

(C) an    (D) some  

40. Choose the correct sentence which correctly 

conveys the meaning of the sentence given 

below: 

We shall remain ever grateful to you. 

(A) We shall never be grateful to you. 

(B) We shall always remain ungrateful to you.  

(C) We shall always be grateful to you. 

(D) We shall be grateful to you. 

41. Fill in the blanks with suitable phrasal verb: 

We could go ice skating in Shimla ________ the 

weather is good. 

(A) even though   (B) as soon as 

(C) provided that   (D) soon after 

42. What does the phrase “Jarring voices” mean? 
(A) Unpleasant sounds (B) Real sounds 

(C) Pleasant sounds (D) Unreal sounds 

43. “How beautiful you are, Earth and how 

sublime”. 
Mention the figure of speech from the options 

given. 

(A) Oxymoron  (B) Personification 

(C) Simile   (D) Metaphor  
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44. Choose the appropriates preposition to complete 

the sentence: 

Please add some sugar _________ the coffee. 

(A) to    (B) with 

(C) in    (D) on 

45. Mention the poem in which these lines occur. 

God made “Heaven and Earth” for joy 

He took in a rhyme.  

(A) The flying wonder  

(B) With a friend 

(C) Laugh and be Merry 

(D) My native land 

46. What is the theme observed in the poem “A 

Noiseless Patient Spider”? 

(A) unshakable faith  (B) labour 

(C) love    (D) fearful attitude 

47. Repetition of the same line at the end of each 

stanza is called 

(A) simile   (B) refrain 

(C) alliteration   (D) metaphor 

48. Which poet makes an appeal to our senses for 

special children? Find out from the options 

(A) Elizabeth Barret Browning 

(B) Randal Jarell 

(C) David Roth 

(D) Lewis Carroll 

49. “No Men Are Foreign” is a poem written by  

(A) Kamala Surayya (B) James Kirkup 

(C) Brian Patten  (D) D.H. Lawrence 

50. Who said these lines: 

“Under the Wide and Starry Sky, 

Dig the grave and led me lie”. 
(A) Francis Bacon  (B) John Keats 

(C) Ben Johnson            (D) R. L. Stevenson 

51. Choose the appropriate antonym of the 

underlined word: 

Always commence your work with faith. 

(A) Conclude   (B) Continue 

(C) Complete   (D) Start 

52. A sonnet is a poem of_________ lines. 

(A) 12    (B) 14 

(C) 10    (D) 16 

53. Identify the author of the poem  

“Be the Best” 

(A) Walt Whitman  

(B) William Shakespeare  

(C) D. H. Lawrence  

(D) Douglas Malloch  

54. Who wrote the sonnet „composed upon 

Westminster Bridge‟? 

(A) William Shakespeare 

(B) William Wordsworth 

(C) John Donne 

(D) John Keats 

55. The road to success is not a bed of 

(A) Lotus   (B) Jasmine 

(C) Sunflowers   (D) Roses 

56. “GOAL COMMAND” is a _______ 

(A) Project 

(B) Mental picture of our goal 

(C) Banking movement 

(D) Vision 

57. Who wrote this line? “Life is but an empty 
dream!” 

(A) William Wordsworth 

(B) H.W. Longfellow  

(C) Robert Frost 

(D) William Shakespeare 

58. What kind of figure of speech is applied in the 

following poetic line? 

„Till the gossamer thread you fling catch 
somewhere O my soul‟ 
(A) Simile   (B) Metaphor 

(C) Personification (D) Oxymoron 

59. The poem “The cry of the children” tells about 
the theme of______ 

(A) Work is worship (B) Time passing  

(C) Child labour  (D) Laziness 

60. Find out the plural form of the word:  

Phenomenon 

(A) Phenomini   (B) Phenomenons  

(C) Phenomenus   (D) Phenomena  

61. Who said these words? 
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“A nation without a vision is like a ship cruising 

on high seas without aim or direction”. 
(A) Gandhiji   

(B) Rajiv Gandhi 

(C) Jawaharlal Nehru  

(D)Indra Gandhi 

62. True morality consists, not in following the 

beaten track, but in finding out the true path for 

ourselves.... 

These lines are from the lesson _________. 

(A) To The Land of Snow 

(B) Hiroshima 

(C) Mark of Vishnu 

(D) The Ceaseless Crusader  

63. Combine the sentences into a simple sentence 

and choose the correct from the options given 

This is a mango from my garden. It is sweet 

(A) The mango which is sweet is from my 

garden 

(B) This is a mango from my garden which is 

sweet 

(C) This is a mango from my garden and it is 

sweet 

(D) The sweet mango is from my garden 

64. Find out the “Simple Sentence” from the 

following: 

(A) Though Sriram is rich he is humble. 

(B) Sriram is rich but he is humble. 

(C)Inspite of his richness Sriram is humble. 

(D) Sriram is rich still he is humble. 

65. Rewrite the sentence in the other speech: 

Mother asked me how I had written the test 

(A) Mother said to me, “How did you write the 
test?” 

(B) Mother asked me, “How will you write the 

test?” 

(C) Mother said to me, “How do you write the 

test?” 

(D) Mother told me, “How had you written the 

test?” 

66. Who said these lines? 

India is a nation of a billion people. 

A nation's progress depends upon how its 

people think. 

(A) Jawaharlal Nehru 

(B) Mahatma Gandhi 

(C) Kiran Bedi 

(D) Dr. A. P. J. Abdul Kalam 

67. Choose the phrase that is closest to the meaning 

of the word given in italics 

The Summer temperature soars past 107°F in 

South Tamilnadu. 

(A) runs forward   (B) grows over 

(C) increases to   (D) flies high 

68. What type of essay does the lesson „Bon 

Voyage‟ refer to? 

(A) Narrative   (B) Descriptive 

(C)Biographical   (D) Imaginative 

69. Pick out British word for American word 

„Kerosene‟ 
(A) Gasoline   (B) Paraffin 

(C) Diesal    (D) Petrol 

70.  “The Ganges valley looked majestic” who 

uttered these words? 

(A) Portia           (B)Kalpanachawla 

(C) Antonio  (D) Bassanio 

71. Henry Wordsworth was a great _______ poet. 

(A) American  (B) Indian 

(C) Russian  (D) British  

72. Match the poems with poets:  

Column A 

(a) The Apology 

(b)Hopes  and Dreams 

(c) Prayer of  a 

sportsman 

(d)MyGrandmother's 

House 

Column B 

1. Audrey Heller 

2.Ralph Waldo 

Emerson 

3. Kamala Surayya 

 

4. Berton 

 (a) (b) (c) (d) 

(A) 1 2 3 4 

(B) 4 3 2 1 

(C) 2 1 4 3 

(D) 3 4 1 2 

73. Alan Trevor was a 

(A) painter   (B) colonel 

(C) postman   (D) policeman 
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74. Identify the figure of speech used in the 

following poetic line. „That hung like clustered 

stars‟ 
(A) Metaphor   (B) Simile 

(C) Alliteration  (D) Assonance 

75. Identify the figure of speech used in this line: 

“Till the gossamer thread you fling catch 

somewhere O my soul” 

(A) Onomatophoeia (B) Metaphor 

(C) Oxymoron  (D) Assonance  

76. Pickout the line which occurs in the poem 

“Sonnet No - 116”. 
(A) This arm beneath your head! 

(B) Or bends with the remover to remove. 

(C) Will noone tell me what she sings? 

(D) Be the best of whatever you are! 

77. When was Jane Masefield born? 

(A) 1st June 1878  (B) 1st June 1868 

(C) 1st June 1888  (D) 1st June 1858 

78. Find out the correct spelling for the title of the 

play given: 

(A) Twelvth night  (B) Twelveth night 

(C) Twelfth night  (D) Twelth night 

79. Find out the verb from the following:  

(A) Accomplish  (B) Accomplishment 

(C) Honestly  (D) Beauty 

80.  “That fifty-para paddy field is owned by 

someone in Vaikom. Kesavan Nair has been 

cultivating it for the last _________ years. 

(A) Forty   (B) Twenty 

(C) Ten   (D) Five 

81. „Softy in the dusk a woman is singing to me‟ 
What is the time mentioned in this line?- 

(A) Dusk   (B) Noon 

(C) Dawn   (D) Night 

82. Who built the Brihadeeswarar Temple?  

(A) King KarikalChola 

(B) King Raj endraChola 

(C) King MahendraVarman 

(D) King Raja RajaChola 

83. Who brought many captives to Rome? 

(A) Casca   (B) Caesar 

(C) MarkAntony  (D) Brutus  

84. Identify the character who is not found in „The 
Last Leaf. 

(A) Johnsy   (B) Sue 

(C) Gomathi  (D) Behrman 

85. In whose poem the following lines occur? „Tour 
problems are perplexing  

Your chances rather slim”  

(A) BertonBraley  (B) DoughlasMalloch 

(C) Hope Spencer  (D) Rudyard Kipling 

86. “But it is not merely knowledge that will help 
you or help any class of human beings by itself‟. 
This is addressed by Gokhale to  

(A) The Freedom Fighters 

(B) The Students  

(C) His friends   

(D) The teachers  

87. Identify the sentence pattern in the following: 

The company chairperson promised them better 

salary. 

 (A) SV IODO  (B) SVOC  

 (C) SV C A  (D) SV O A 

88. Fill in the blanks with suitable gerund. 

 ________ is a good exercise. 

 (A) To swim  (B) Swimming 

 (C) To go swimming (D) To do swimming 

89. Select the correct tense form of the verb in 

bracket. 

 Sophy usually ______ (go) to college at 9 a.m. 

 (A) go   (B) willgo 

 (C) goes   (D) going 

90. The word Trauma which is originated from 

Greek means 

 (A) Culminating point  

 (B) An emotional shock 

 (C) Soul or mind 

 (D) Confusion or disorder 

91. The American English equivalent of the word 

'Pavement‟ is 

 (A) pathway  (B) sidewalk  

 (C) corridor  (D) passage 

92. Find out the odd sentence from the following. 
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 (A) I have many pencils  

 (B) She ate the whole apple 

 (C) Jasmine is a fragrant flower 

 (D) He ran fast  

93. Match the poems A with the poets B. 

A poems B poets 

(A) Nine Gold 

Medals 

Elizabeth Barrett 

Browning 

(B) Prayer of a 

sportsman  

Rabindranath 

Tagore 

(C) Where the mind 

is without fear 

BertonBraley 

(D) Out in the 

fields with God David Roth 

 

 (a) (b) (c) (d) 

(A) 4 3 2 1 

(B) 1 2 4 3 

(C) 3 4 1 2 

(D) 2 1 3 4 

94. Find out the author of the short story. . 

The face of Judas Iscariot.  

(A) Bonnie Chamberlain   (B) Saki 

(C) Oscar Wilde   (D) O‟ Henry 

95. Which of the following is not a poem? 

(A) The flying wonder 

(B) Laugh and Be Merry 

(C) The Apology  

(D) The Marvelous machine 

96. Match the following with author and title : 

Author Title 

(a) Elizabeth Barrett 

Browning 

1. A Psalm of life 

(b) Oscar Wilde 2. The solitary 

reaper 

(c)WilliamWordsworth 3.The cry of the 

children 

(d)H.W. Longfellow 4.The model 

millionaire 

 

 (a) (b) (c) (d) 

(A) 3 4 2 1 

(B) 4 3 1 2 

(C) 1 3 2 4 

(D) 2 4 1 3 

97. “Had he and I but met  

By some old ancient inn”   

Whom does „he‟ refer to here?  

(A) The poet  (B) The soldier 

(C) An enemy soldier (D) A friend  

98. Match the poems in Column A with their poets 

in Column B.  

 Column A  Column B 

(a) The Nation United  Lewis Carroll 

(b) Is life but a dream Thomas Hardy 

(c) The Man he killed Norman Nicholson 

(d) Off to Outer space 

tomorrow morning 

 

Walt Whitman 

 (a) (b) (c) (d) 

(A) 4 1 2 3 

(B) 3 2 1 4 

(C) 2 3 4 1 

(D) 1 4 3 2 

99. Love‟s not Times fool, though rosy lips and 
cheeks”. In which poem this line is taken from 

(A) Solitary Reaper (B) Be the Best 

(C) A Psalm of Life  (D) Sonnet No. 116 

100. Match the characters given under Column A 

with the stories given under Column B andselect 

the correct option from those given below : 

 Column A  Column B  

(a) Matilda 1. Reflowering 

(b) Della 2. The Lottery Ticket 

(c) Appa 3. The Necklace 

(d) Masha 4

. 

The Gift of Magi 

 

 

(a) (b) (c)  (d)  

(A) 3 2 1 4 

(B) 3 4 1  2  

(C) 2  1 3 4  

(D)  4 3 2  1 
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Model Test 4 (General Studies) - TNPSC Group 2 (A)
1. 2017 Mk; Mz;L Nahfh jpdj;jpd; 

fUg;nghUs; 

A) Nahfh xU tif jpahdk; 

B) rkhjhdj;jpw;F Nahfh 

C) midtUf;Fk; cly; eyk; 

D) Nahfh %yk; cly; eyk; 

2. xt;nthU Mz;Lk; cyf ghiytdkhy; 

jLg;G jpdk; ve;ehspy; mDrhpf;fg;gLfpwJ? 

A) [_d; 17  B) Mf];l; 20 

C) [_y 28  D) [_d; 5 

3. cNyhf Ruq;fq;fis Kw;wpYkf jil 

nra;j Kjy; ehL vJ? 

A) njw;F Mg;hpf;fh B) vy; rhy;tlhh; 

C) u\;ah   D) fpdpah 

4. Kf Gj;jfj;jpy; mjpfkhNdhh; gpd; 

njhlUk; cyfj; jiyth; ahh;? 

A) Nghgh; gpuhd;rp]; 

B) mkpjhg;gr;rd; 

C) nlhdhy;L buk;g; 

D) eNue;jpu Nkhb 

5. mNugpa yPf;fpd; jiyikaplk; vq;F 

cs;sJ? 

A) yh$h;   B) ,];yhkhghj; 

C) khyp   D) nfa;Nuh 

6. 2017 ICC – ODI kl;ilab juthpirapy; 

%d;whtJ ,lj;ij ngWgth; ahh;? 

A) Nltpl; thh;dh; 

B) N[h &l; 

C) tPuhl; Nfhyp 

D) mg; B tpy;ypah;]; 

7. mz;ikapy; ,k;uhd; fhth[h vd;gth; 

nra;jpfspy; tu fhuzk; 

A) jpl;lf; FOtpd; Jizj; jiyth; 

B) CMDA - tpd; cWg;gpdh; nrayh; 

C) ICC - ,d; Jizj; jiyth; 

D) AICTE - apd; jiyth; 

8. rhpahd tpilfNshL nghUj;Jf 

A) ghujpahd; 1. jNah fhh;gNlk; 

fhshd; nfhy;yp 
B) eghk; 2. xOq;fw;w 

fhshz; nfhy;yp 
C) Nfg;lhd; 3. fhpk gh];gu]; 

g+r;rpf; nfhy;yp 
D) fhh;ghf;]pd; 4. xOq;fhd 

fhshd; nfhy;yp 
 a b c d 
A) 2 1 3 4 

B) 3 2 4 1 

C) 2 4 1 3 

D) 3 1 2 4 

9. mZ vz; ………………. f;F mjpfkhf 

cs;s jdpkq;fs; mjp fd jdpkq;fs; 

vd;W miof;fg;gLfpd;wd 

A) 104   B) 103 

C) 105   D) 112 

10. nrud;Nfht; vz;zpfs; vd;git 

A) ,af;ftpay; vz;zpfs; 

B) kpd;Dk; fz;Lgpbg;ghd;fs; 

C) &gp Nyrhh; 

D) $ypl;[; Foha;fs; 

11. xU Fwpg;G ,lj;jpd; vy;yh tFg;G 

caphpdq;fSk; Kw;wpYk; khWgLtjw;F 

vd;d ngah; 

A) KbT tFg;Gfs; 

B) Kjd;ik rpw;wpdk; 

C) rPh; 

D) nruhh;r; KbT epiy 

12. xU kdpj fU tsh;r;rpapd; NghJ 4 tJ 

thuj;jpy; eilngWk; Kf;fpa epfo;tpy; 

ve;j xd;W fPo;fz;ltw;Ws; rhpahdJ? 

A) fU msT 2 mm kl;Lk; jz;Ltl 

Foy; tsh;jy; 

B) fU msT 5 mm kl;Lk; ,uj;j 

ehsq;fs; tsh;jy; 

C) fU msT 12 mm kl;Lk; fhJ> fz;fs; 

tsh;fpd;wJ. 

D) rpR msT 17 mm kl;Lk; vy;yh 

cs;SWg;Gfs; tsh;e;J fhzg;gLk;. 
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13. fPNo nfhLf;fg;gl;Ls;s My;fh tFg;Gfis 

mjd; Nrkpg;G czNthl nghUj;Jf 

A) FNshNuhigl;lh 1. 
gpNshhpbad;kh
T 

B) ]he;Njhigl;lh 2. khT 

C) gpNahigl;lh 3. 
yhkpNdhpad; 

D) NuhNlhigl;lh 4.nfhOg;G 
my;yJ 
YNfh]pd; 

 a b c d 

A) 2 4 3 1 

B) 1 2 3 4 

C) 4 2 3 1 

D) 2 3 4 1 
14. nry;YNyh]; kw;Wk; n`kpnry;YNyh];ia 

czT ehh;fs; vd;W miog;gh;. ,it 

tapw;iw epug;Gtjw;F kl;Lk; gad;glhky; 

ngUq;Fly; …………….. mirtpw;Fk; 

gad;gLfpd;wJ 

A) jpf;Nkhdh];bf; B) Nghl;Nlhbuhgpf; 

C) nghp];byhy;bf; D) `PypNahbuhgpf; 

15. ntg;g epiyapd; Nky; Nehf;F nrq;Fj;Jr; 

rhpT ,t;thW miof;fg;gLfpwJ 

A) ntg;g fpuf khWif 

B) g+hpj ntg;gepiy 

C) ntg;g tPo;r;rp 

D) cs;Siw ntg;gk; 

16. Mq;fpNyah;fshy; #uj; JiwKfj;jpw;F 

gjpyhf Vw;gLj;jg;gl;l JiwKfk; 

A) fz;l;yh  B) Kk;ig 

C) Nehth rpth  D) `hy;bah 

17. Gtp Nkw;gug;gpy; cauk; kw;Wk; jho;tpid 

ruhrhp fly; kl;lj;jpypUe;J fhl;l 

gad;gLk; tiuglk; 

A) `pg;Nrhnkl;hpf; tisNfhL 

B) yhud;]; tisNfhL 

C) fpisNdh fpuhgpf; tisNfhL 

D) miyntz; tisNfhL 

18. gpd;tUtdtw;wpy; ve;j MW Nkw;fpypUe;J 

fpof;F Nehf;fp gha;fpwJ? 

A) jhNkhjh; MW 

B) Nrhd; MW 

C) nfd; MW 

D) jp];lh; MW 

19. fPo;fhz;gitfSs;> jpUney;Ntyp gFjpapy; 

fz;lwpag;gl;l tuyhw;Wf;F Kw;gl;l 

fhyj;J ,lk; vJ? 

A) fhay;gl;bdk;  B) tlkJiu 

C) gy;yhtuk;  D) Mjpr;rey;Y}h; 

20. fPNo Fwpg;gpl;lth;fspy; fpNuf;f ehl;bd; 

J}Jtuhf ghlypGj;jpuj;jpw;F te;jth;/ 

te;jth;fs; ahh; 

I. nkf];jdP]; 

II. n`uNlhl]; 

III. nla;NkNfh]; 

IV. lNahidrpNah];  

A) I kl;Lk; 

B) I, II, III 

C) I, III kw;Wk; IV 

D) II kw;Wk; IV kl;Lk; 

21. fPo;f;fz;l fjph;fspy; vJ fjph; tPr;R 

fjph;fs; ,y;iy? 

A) X - fjph;fs;  B) α – fjph;fs; 
C) β – fjph;fs;  D) y – fjph;fs; 

22. #hpadpypUe;J tUk; xspahdJ g+kpia 

te;jila MFk; Neuk; 

A) 10 nrfz;l;;]; B) 50 nrfz;l;]; 

C) 100 nrfz;l;]; D) 500 nrfz;l;]; 

23. fPo;f;fz;ltw;s; vJ mjpf gug;G 

,Otpiria cilaJ? 

A) ePh;   B) My;f`hy; 

C) <jh;   D) ghjurk; 

24. ,tw;wpy; vit ,uj;j ciwjiy 

Vw;gLj;jhj xU fhuzp? 

A) igg;hpNdh[d; 

B) ,uj;jj; jl;Lfs; 

C) j;Nuhk;gpd; 

D) My;GAkpd; 

25. ,th;fspy; ve;j ngz;kzp ghuj ];Nll; 

tq;fpapd; jiyth; Mthh;? 

A) re;jh Nfhr;rhh; 

B) mUe;jjp gl;lhrhhpah 

C) rpf;fh \h;kh 

D) Mdh Nghd;bd; 

26. 2017 gpnuQ;R Xg;gd; ngz;fs; xw;iwah; 

gl;lj;ij ntd;wth; ahh;? 

A) n[yPdh M];lhngd;Nfh 

B) rpNkhdh `hNyg; 

C) tPd]; tpy;ypak;]; 

D) rkhd;j;jh ]NlhRh; 
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27. “kPd; gp g+id” ,e;jpahtpy; ve;j 

khepyj;jpd; “khepy tpyq;fhf” cs;sJ? 

A) Nkw;F tq;fhsk; B) Nfush 

C) njYq;fhdh  D) xbrh 

28. 2017 MTV jpiug;gl kw;Wk; njhiyf;fhl;rp 

tpUJ tpohtpy; rpwe;j jpiug;gl 

ebfUf;fhd tpUij ngw;wth; 

A) vk;kh thl;rd; 

B) Nldpy; fY}ah 

C) `_f; n[f;khd; 

D) fpdh Nuhl;hpf;]; 

29. 2017 f;fhd nkh;rhpd; tho;f;if ju tpfpj 

juthpirapd; gb cyfpy; rpwe;j efuk; 

vJ? 

A) #hpr;R   B) n[dPth 

C) Nfhg;gd;N`fd; D) tpad;dh 

30. khepy murhq;fj;jpd; rl;l MNyrfh; 

A) ml;lh;dp n[duy; 

B) ml;NthNfl; n[duy; 

C) nrhyprplh; n[duy; 

D) rl;l mikr;rh; 

31. fhw;W khRgLjiyfl;Lg;gLj;j cyfstpy; 

Kjd; Kjypy; ve;j efuk; / ehL kpf 

Fiwe;j Gif ntspaPl;L kz;lyk; vd;w 

gFjpia mwptpj;Js;sJ? 

A) yz;ld;  B) njd; nfhhpah 

C) ,];Nuy;  D) M];jpNuypah 

32. 2017 re;Njh\; Nfhg;igia ntd;wJ 

A) Nfhth   

B) Nkw;F tq;fhsk; 

C) gQ;rhg; 

D) Kk;gha; 

33. Ngd;rpq; - 2 vd;w Ez;zpa 

nraw;iff;Nfhs;> 2016 Mk; Mz;L 

vq;Fs;s tpz;ntsp Nrhjid Ma;tfj;jpy; 

,Ue;J nrYj;jg;gl;lJ? 

A) rPdh   B) u\;ah 

C) mnkhpf;fh  D) fdlh 

34. “gpuk;Nkh]; VTfizia ,e;jpahTld; 

Nrh;e;J cUthf;Fk; ehL 

A) u\;ah  B) fdlh 

C) Vj;jd;];  D) M];jpNuypah 

35. fPo;fz;l thf;fpaq;fspy; rhpahdij 

fz;Lgpbf;fTk; 

A) %d;Wf;F Nkyhd epWj;jk; [Pd; 

NfhLfs; MFk;. 

B)khh;fd; kw;Wk; NghNthp [Pd;fs; 

FNuhNkhNrhkpy; cs;sJ fz;lwpe;jhh;fs;. 

C)17 [Pd;fs; kdpjdpd; Y FNuhNkhNrhkpy; 

cs;sJ. 

D)xU DNA tpy; ,uz;L epAf;spNahilfs; 

,ilNa cs;s J}uk; 4.2 A° MFk;. 

36. nry; Nfhl;ghl;il Kd;nkhope;jth;fs; ahh;? 

A) vk;.n[. ]py;ld; kw;Wk; jpNahlh; 

]pthd; 

B) n[.b. thl;rd; kw;Wk; vg;. vr;. rp. fphpf; 

C) vg;. N[f;fg; kw;Wk; n[. Nkhdhl; 

D) rp.vr;. nkf;ypahl; kw;Wk; vr; nkf; 

fhh;l;b 

37. fPo;f;fhZk; thf;fpaq;fis ftdp 

$w;W (A) : rpy tpijfis jz;zPhpy; 

,l;lTld; fhw;wpy;yh> Rthrj;ij Kjy; 

gy kzp Neuj;jpw;F Kisf;Fk; jUthapy; 

Nkw;nfhs;fpd;wd 

fhuzk; (R) : jhtu jpRf;fs; thA 

kz;lj;jpy; O2 jutpy;iynad;why;> 

igUtpf; mkpyk; CO2 kw;Wk; vjpy; 

rhuhakhf khw;wg;gLfpd;wJ. 

A) (A) kw;Wk; (R) ,uz;LNk rhp NkYk; 

(R) vd;gJ (A) tpw;F rhpahd tpsf;fk; 

B) (A) kw;Wk; (R) ,uz;Lk; rhp> NkYk; 

(R) vd;gJ (A) tpw;F rhpahd tpsf;fky;y 

C) (A) rhp Mdhy; (R) jtW 

D) (A) jtW Mdhy; (R) rhp 

38. gpd;tUtdtw;Ws; Gtpapd; cl;fU 

gFjpapy; mjpfk; fhzg;gLgit 

A) rpypfhd;  B) Mf;]p[d; 

C) ry;/gh;   D) ,Uk;G 

39. „v];fpNkhf;fs;‟ fhzg;gLk; gpuNjrk; 

A) Je;jpu gpuNjrk; 

B) Crpapiyf; fhl;L gpuNjrk; 

C) epyeLf;Nfhl;L gpuNjrk; 

D) mad kw;Wk; kpj ntg;g kz;ly 

ghiytd gpuNjrq;fs; 

40. jgjp ejp cw;gj;jpahFk; ,lk; 

A) tpe;jpa kiyj; njhlh; 

B) rhj;Guh kiyj; njhlh; 

C) ikf;fhy; kiy 

D) Muty;yp kiyj; njhlh; 

41. jpUehTf;furUf;F mg;gh; vd;w 

gl;lg;ngaiuf; nfhLj;jth; 

A) Nrf;fpohh;  B) Re;juh; 
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C) khzpf;fthrfh; D) rk;ge;jh; 

42. Filtiu Nfhapy;fs; vd;w Gjpa 

fl;blf;fiy ghzpia mwpKfg;gLj;jpath; 

ahh;? 

A) Kjyhk; ee;jpth;kd; 

B) ,uz;lhk; ee;jpth;kd; 

C) Kjyhk; kNfe;jputh;kd; 

D) Kjyhk; eurpk;kth;kd; 

43. (5x + 15) : (2x + 3) = 10 : 3 vdpy; x d; kjpg;G 

A) 3   B) 4 

C) -1   D) -4 

44. xU cNyhff; fyitapy; 9 : 4 

tpfpjj;jpy; jhkpuKk; Jj;jehfKk; 

cs;sd. 24 fp.fp jhkpuj;Jld; Nrh;e;J 

cUff; $ba Jj;jehfk; vt;tsT Njit 

A) 10 
2

3
 fp.fp  B) 10 

1

3
 fp.fp 

C) 9 
2

3
 fp.fp  D) 9 fp.fp 

45. 9f;Fk; 25 f;Fk; ,ilNa cs;s 

,iltpfpjk; rkd; 

A) 9   B) 25 

C) 15   D) 225 

46. xU Ntiyia A vd;gth; 80 ehl;fspy; 

nra;J Kbg;ghh;. mth; 10 ehl;fs; Ntiy 

nra;jgpd; kPjp Ntiyia B vd;gth; kl;Lk; 

42 ehl;fspy; nra;J Kbj;jhh;. A Ak; B Ak; 

Nrh;e;J Ntiy nra;jhy; mt;Ntiyia 

mth;fs; vt;tsT fhyj;jpy; nra;J 

Kbg;gh;? 

A) 28 ehl;fs;  B) 30 ehl;fs; 

C) 29 ehl;fs;  D) 31 ehl;fs; 

47. xU ];$l;lhpd; rf;fukhd 50 KO 

Rw;Wfspy; 88 kP ia flf;fpwJ. vdpy; 

me;j ;$l;lhpd; rf;fuj;jpd; Muk; 

A) 24 cm   B) 48 cm 

C) 28 cm   D) 12 cm 

48. xU ngl;bapYs;s khk;goq;fspy; xt;nthU 

30 khk;goq;fSf;Fk; xU eRq;fpa khk;gok; 

cs;sJ. xt;nthU 4 eRq;fpa 

goq;fSf;Fk; 3 tpw;gidf;F cfe;jjy;y 

vd fUjg;gl;lhy; kw;Wk; ngl;bapy; 12 

eRq;fpa goq;fs; ,Ue;jhy;> ngl;bapYs;s 

khk;goq;fs; vj;jid? 

A) 480   B) 460 

C) 490   D) 470 

49. xU nrt;tf tbtg;ghj;jpuj;jpy; cs;s 

jz;zPhpy; KOtJkhf %o;fp xU 15 nrkP 

gf;fKs;s fd rJuk; cs;sJ. 

ghj;jpuj;jpd; mbg;ghfj;jpd; ghpkhzk; 20 

nr.kP x 15 nr.kP vd ,Ue;jhy;> jz;zPh; 

caUk; msT fhz;f 

A) 10.25 nr.kP  B) 11.25 nr.kP 

C) 11 nr.kP  D) 10 nr.kP 

50. xU Fwpg;gpl;l mryhd 6 tUlk; kw;Wk; 4 

tUlq;fspy; KiwNa &.8>800 kw;Wk; 

&.7>920 fpilf;Fnkdpy; mjd; tl;b 

rjtPjj;ij fhz;f (tl;b Kiw jdp tl;b 

vd nfhs;f) 

A) 10%   B) 12% 

C) 15%   D) 8% 

51. xU Ntl;ghsh; ntw;wp ngw gjpthd 

thf;Ffspy; 
3

4
 ghfk; Njitg;gLfpwJ. 

2

3
 gFjp Xl;Lfs; vz;zg;gl;l gpd;dh;> 

Njitapy; 
5

6 
 gFjp thf;Ffs; ngw;wpUe;jhy;> 

,d;Dk; kPjKs;s thf;Ffspy; vj;jid 

gFjp mtUf;F ,d;Dk; Njitg;gLfpwJ. 

A) 
1

8
   B) 

3

8
 

C) 
1

10
   D) 

1

4
 

52. 
3

12 .22
 + 

5

22 .32
 + 

7

32 .42
 + 

9

42 .52
 + 

11

52 .62
 + 

13

62 .72
 + 

15

72 .82
 

+ 
17

82 .92
 + 

19

92 .102
 d; kjpg;G 

A) 
1

100
   B) 

99

100
 

C) 1   D) 
101

100
 

53. 6 nr.kP x 12 nr.kP x 15 nr.kP msTs;s 

xU nrt;tf jz;L kPjk; ,y;yhky; fd 

rJu tbtpyd Jz;Lfshf 

ntl;lg;gLfpwJ. Fiwe;jgl;r 

vz;zpf;ifapyhd fdruq;fisf; fhz;f 

A) 37   B) 38 

C) 39   D) 40 

54. xU mr;R ,ae;jpuk; xU Gj;jfj;jpd; 

gf;fq;fis 1 Kjy; 3189 ,yf;fq;fis 

cgNahfpj;J mr;rpLfpwJ. vdpy;> 

mg;Gj;jfj;jpd; gf;fq;fs; vj;jid/ 

A) 1000   B) 1074 

C) 1075   D) 1080 

55. gpNghdhfp njhl;h; thpirapy; 

1,1,2, 3, 5, 8, a, 21, 34 ………. vdpy; a apd; 

kjpg;G 

A) 11   B) 14 

C) 12   D) 13 
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56. 12> 15> 18 kw;Wk; 27 vz;fshy; tFgLk; 

kPg;ngUk ehd;F ,yf;f vz;izf; fhz;f 

A) 5400   B) 9990 

C) 9720   D) 9750 

57. ,e;jpahttpy; Kjd; Kjyhf fl;rpaw;w 

[dehafk; vd;gjid Kd;nkhope;jth; 

A) n[ag;gpufh\; ehuhazd; 

B) M.N. uha; 

C) tpNdhgh ghNt 

D) kfhj;kh fhe;jp 

58. ve;j rl;lj;jpUj;jk; ,e;jpa 

murpayikg;gpid NkYk; nghpajhf;fpaJ? 

A) 40tJ rl;lj; jpUj;jk; 

B) 41tJ rl;;lj; jpUj;jk; 

C) 42tJ rl;lj; jpUj;jk; 

D) 43tJ rl;lj; jpUj;jk; 

59. (x + 1) ( x + m) = x
2
 + 4x + 2 vdpy; (l – m)

2
 - 

apd; kjpg;G fhz;. 

A) 6   B) 4 

C) 8   D) 12 

60. RUf;Ff :  1
3

4
 𝑥 3 

1

7
 −   4 

3

8
 ÷ 5 

3

5
  

A) 4 
23

32
   B) 4 

21

32
 

C) 4 
23

31
   D) 4 

22

31
 

61. (a + B) kw;Wk; (a – B) - apd; kjpg;G KiwNa 

7 kw;Wk; 4 vdpy; ab - apd; kjpg;G 

A) 
28

3
   B) 

22

3
 

C) 
33

4
   D) 

33

2
 

62. %d;W ntt;NtW vz;fspd; kP.ngh.k 120 

MFk;. fPo;f;fz;litfspy; vJ mitfspd; 

kP.ngh.t. MfhJ? 

A) 8   B) 12 

C) 24   D) 35 

63. 35x
5
 y

8
 z

4
, 49 x

2
 yz

3
, 14xy

2
z

2
 apd; kP.ngh.t. 

A) 7x
5
y

3
z

4
   B) 7x

2
yz

2
 

C) 7xy
2
z

2
   D) 7xyz

2 

64. ,e;jpa murpayikg;gpy; gpd;tUk; ve;j 

tpjpahdJ epjp rk;ge;jg;gl;l mtur; rl;lk; 

gw;wp $WfpwJ? 

A) tpjp 352  B) tpjp 356 

C) tpjp 360  D) tpjp 370 

65. $w;W (A) :  hpg;gd; gpuGtpd; 1882 k; 

Mz;L jPh;khdk; vd;gJ cs;shl;rp 

murhq;fq;fspd; „k`h rhrdk; Nghd;wJ 

fhuzk; (R) : “,e;jpa cs;shl;rp 

murhq;fq;fspd; je;ij” vd hpg;gd; gpuG 

fUjg;gLfpwhh; 

A) A kw;Wk; R ,uz;LNk rhp. NkYk; R 

vd;gJ A tpw;F rhpahd tpsf;fkhFk;. 

B) A kw;Wk; R ,uz;LNk rhp. Mdhy; R 

vd;gJ A tpw;F rhpahd tpsf;fky;y; 

C) A rhp Mdhy; R jtW 

D) A jtW Mdhy; R rhp 

66. jfty; mwpAk; chpikr; rl;lk; 

eilKiwf;F te;j Mz;L 

A) 2003   B) 2004 

C) 2005   D) 2006 

67. ,e;pa murpayikg;gpy; fhzg;gLk; 

mbg;gil chpikfs; vj;jid gFjpfshf 

gphpf;fg;gl;Ls;sJ? 

A) MW   B) VO 

C) vl;L   D) xd;gJ 

68. Nfs;tp Neuk; vd;gJ 

A) ,uz;L mitfspYk; cs;s Kjy; 

mkh;tpd; Kjy; kzp Neuk; 

B) mkh;tpd; ,uz;lhtJ kzp Neuk; 

C) mkh;tpd; filrp kzp Neuk; 

D) mkh;tpd; kjpa ,ilNtis Neuk; 

69. Nyhf; mAf;jhit Kjd; Kjypy; epWtpa 

khepyk; 

A) xhprh   B) gPfhh; 

C) gQ;rhg;  D) kfhuh\;buh 

70. nghJ nghUs; vd;gJ r%f tpUg;gkhfTk; 

jFjpahd tpUg;gkhfTk; tifg;gLj;jpath;? 

A) Nguhrphpah; k];fpNut; 

B) Nguhrphpah; \puh]; 

C) Nguhrphpah; nrypq;Nkd; 

D) Nguhrphpah; Mlk; ];kpj; 

71. NIPFP - vd;gJ 

A) Njrpa nghJ epjpf; nfhs;if epWtdk; 

B) Njrpa KjyPl;L nghJ epjpf; nfhs;if 

epWtdk; 

C) Njrpa fhg;gPl;L nghJ epjpf; nfhs;if 

epWtdk; 

D) Njrpa njhopy; nghJ epjpf; nfhs;if 

epWtdk; 

72. fPo;f;fz;ltw;Ws; vJ Njrpa tUthia 

fzf;fpLk; Kiw fpilahJ? 

A) tUtha; Kiw 

B) nrytpd Kiw 
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C) cw;gj;jp Kiw 

D) Rw;W Xl;lk; tUtha; Kiw 

73. vy;.<.b (LED) Mf nray;GhpAk; kpd; 

flj;Jk; gygbfs; if Ngrpfspy; 

………………Mf gad;gLj;jg;gLfpd;wd 

A) Ngl;lhp   B) xypg;ghd; 

C) xyp thq;fp  D) jpiu 

74. mnyf;rhz;lh; ,e;jpahtpd; kPJ 

gilnaLj;j NghJ mthpd; flw;gil 

jsgjpahf ,Ue;jth; ahh;? 

A) ];ifyhf;];  B) ePh;r]; 

C) ];lNuNgh  D) Vhpad; 

75. nghUj;jkw;wijf; fz;Lgpb 

A) my;ngUdp   

B) jhuehj; 

C) mkPh; F];Nuh  

D) [pahTjpd; guhzp 

76. vq;fpUe;J uh[h[p Ntjhuz;aj;jpw;F cg;G 

rj;jpahfpuf ahj;jpiuia njhlq;fpdhh;? 

A) kJiu   B) nkl;uh]; 

C) jpUr;rpuhg;gs;sp D) jQ;rhT+h; 

77. 1967 y; fhq;fpu]; Ml;rp tPo;r;rpaila 

Kf;fpa fhuzkhf ,Ue;jJ 

A) czT gpur;rid 

B) jp.K.f.tpd; vOr;rp 

C) nkhop gpur;rid 

D) nghUl;fspd; tpiy cah;T 

78. ,ilf;fhy murhq;fk; NeU jiyikapy; 

nghWg;Ngw;w ehs; 

A) [_d; 6> 1946  

B) [_d; 24> 1946 

C) Mf];l; 16> 1946  

D) nrg;lk;gh; 2> 1946 

79. 1932 – y; tFg;Gthj mwpf;ifapid 

mwptpj;j ,q;fpyhe;J gpujkh; 

A) fpsnkz;l; ml;yp 

B) uhk;Nr nkf;Nlhdhy;L 

C) tpd;];ld; rh;r;rpy; 

D) ,h;tpd; 

80. A vd;gJ „x‟ msT gf;fk; cs;s 

fdrJuk;. B vd;gJ „x‟ vDk; Muk; 

nfhz;l Nfhsk; A - ,d; fd msTf;Fk; 

B - ,d; fd msTf;Fk; ,ilNa cs;s 

tpfpjk; 

A) 3 : 4𝜋   B) 3𝜋 : 4 

C) 4 𝜋 : 3   D) 4 : 3 𝜋  

81. xU gs;spapy; 800 khzth;fSk; kw;Wk; 25 

Mrphpah;fSk; cs;sdh;. khzth; 

vz;zpf;if 960 MFk;. Mdhy; khzth; - 

Mrphpah; tpfpjk; khwhky; ,Uf;f ,d;Dk; 

vj;jid Mrphpah;fs; epakpf;fg;gl 

Ntz;Lk;? 

A) 4   B) 5 

C) 6   D) 30 

82. 2017 ,y; gh];gu]; ePhpizg;gpy; jpBnud 

epwk; khwpajw;F fhuzk; 

A) jhtu kpjit caphpfspd; mj;j 

tsh;r;rp 

B) vz;nza; frpT khRghL 

C) ePhpdbapy; Vw;gl;l vhpkiy 

D) flYf;fbapy; Vw;gl;l epy eLf;fk; 

83. 2017 NIRF juthpirapy; Njrpa mstpy; 

Kjyplk; ngw;w fy;tp epWtdk; vJ? 

A) ,e;jpa njhopy; El;g epWtdk;> 

nrd;id 

B) [tfh;yhy; NeU gy;fiy fofk; 

C) ,e;jpa mwptpay; fofk;> ngq;fSh; 

D) ,e;jpa njhopy; El;g epWtdk; fhd;g+h; 

84. 2016 ghuhypk;gpf;]; tpisahl;by; ,uz;L 

jq;f gjf;fq;fs; ntd;w ,e;jpah; ahh;? 

A) jPgh kypf; 

B) khhpag;gd; jq;fNtY 

C) tUz; rpq; ghh;b 

D) NjNte;jpuh [`hhpah 

85. i[dh;fspd; Gdpj E}yhf fUjg;gLtJ 

A) jphpgPlfq;fs; 

B) mq;fh 

C) n[d;l; mt];jh 

D) jphpuj;dh 

86. gpd;tUk; ,izah;fspy; kpjthjpfs; 

my;yhjth; ahh;? 

A) ntq;flukza;ah kw;Wk; rghgjp 

B) rPdpthr rh];jphp kw;Wk; jpahg;[p 

C) rpjk;guk; gps;is kw;Wk; thQ;rpehjd; 

D) eNlrd; kw;Wk; ehkf;fy; ftpQh; 

,uhkypq;fk; 

87. nghUj;Jf 

A) Njrgf;jd; 1. 
md;dpngr
d;l; 

B) Rauh[;ak; 2. <.nt.uh 
nghpahh; 

C) FbauR 3. uh[h[p 
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D) epa+ ,e;jpah 4. 
fy;ahz 
Re;judhh; 

 a b c d 
A) 4 3 2 1 

B) 1 2 3 4 

C) 3 1 4 2 

D) 2 4 1 3 
88. 14 nr.kP gf;f msTfs; nfhz;l xU fd 

rJuj;jpy; ,Ue;J ntl;b vLf;fg;gLk; kpf 

nghpa $k;gpd; fd msT 

A) 718.67 cm
3
  B) 718.76 cm

3
 

C) 781.67 cm
3
  D) 781.76 cm

3
 

89. x : y = 3 : 4 vdpy; (4x + 5y) : (5x – 2y) 

fhz;f 

A) 32 : 7   B) 8 : 7 

C) 7 : 4   D) 34 : 7 

90. A apd; Cjpak; B - apd; Cjpaj;ij tpl 

20% Fiwthf ,Ue;jhy;> B apd; Cjpak; 

A - apd; Cjpaj;ij tpl vt;tsT 

tpOf;fhL mjpfk;? 

A) 15%   B) 20% 

C) 25%   D) 30% 

91. 13 kP ePsk; 9 kP mfyKs;s xU miwia 

75 nr.kP mfyg; Nghh;itapdhy;> xU 

kPl;lUf;F &. 12.40 tPjk; nrytpy; 

myq;fhpf;f MFk; nryT fhz;f 

A) &. 1934.40  B) &. 1935.40 

C) &. 1936.40  D) &. 1937.40 

92. 1955 FbAhpikr; rl;lj;jpd; gb ,e;jpa 

Fbkfdhtjw;F vj;jid Kiwfs; 

$wg;gl;bUf;fpwJ? 

A) MW Kiw  B) Ie;J Kiw 

C) %d;W Kiw  D) ,uz;L Kiw 

93. fPo;f;fz;l FOf;fspy; vij Kd;dhs; 

gpujkh; uh[Pt; fhe;jp (cs;shl;rp 

epWtdq;fSf;fhf) gQ;rhaj;J 

mikg;GfSf;fhd Ma;Tf;fhf 

cUthf;fpdhh;? 

A) gy;te;j uha; Nkj;jh FO 

B) G.V.K. uht; FO 

C) L.M. rpq;tp FO 

D) mNrhf; Nkj;jh FO 

94. gpd;tUk; khepyq;fspy; vJ rl;l tpjp 370 

tpjp 370 cld; njhlh;G nfhz;lJ? 

A) [k;K – fh\;kPh; 

B) m];]hk; 

C) Nkfhyah 

D) ehfyhe;J 

95. thpir I cld; thpir II itg; nghUj;jp 

rhpahd tpiliaf; fhz;f 

thpir I thpir 
II 

A) P.N. Nuh\d;bd; Nuhlhd; 1. 
,e;jpahtp
d; gRikg; 
Gul;rpapd; 
je;ij 

B) M.S. Rthkp ehjd; 2. nghpa 
ce;Jjy; 
Nfhl;ghL 

C) kiwKf Ntiyapd;ik 3. kdpj 
Kd;Ndw;w 
FwpaPl;L 
vz; 

D) UNDP 4. 
Ntshz;i
k 

 a b c d 
A) 1 2 3 4 

B) 2 1 4 3 

C) 3 4 2 1 

D) 4 3 1 2 
96. Mk; Mj;kp gPkh Nah[dh ,e;jpahtpy; ve;j 

tUlk; Muk;gpf;fg;gl;lJ? 

A) mf;Nlhgh; 2005 B) mf;Nlhgh; 2006 

C) mf;Nlhgh; 2007 D) mf;Nlhgh; 2008 

97. NSIC vd;gjd; nghUs; 

A) Njrpa rpW njhopy; fofk; 

B) Njrpa Nrit njhopy; fofk; 

C) Njrpa Nrkpg;G njhopy; fofk; 

D) Njrpa khepy njhopy; fofk; 

98. 2011 Mk; Mz;bd; fy;tp fzf;nfLg;gpd;gb 

xl;L nkhj;j jkpofj;jpd; Mz;fspd; fy;tp 

fw;wth;fspd; tpOf;fhL 

A) 86.8 rjtpfpjk; B) 80.3 rjtpfpjk; 

C) 73.9 rjtpfpjk; D) 81.2 rjtpfpjk; 

99. ,e;jpa murhq;fj;jhy; ve;j tUlk; ,e;jpa 

njhiyj; njhlh;G MNyhrid ypkpl;nll; 

epWtg;gl;lJ? 

A) 1978 B) 1979   C) 1980  D) 1981 

100. ehrhtpd; Nfrpdp thd;Ch;jp Gjpjhf 

Muha;r;rp nra;j gFjp ve;j fpufj;jpd; 

cs;sJ? 

A) [_a+gpl;lh;  B) a+Nud]; 

C) rhl;lh;d;  D) neg;ba+d; 
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Model Test 4(General Studies) - TNPSC Group 2 (A)
1. Find the largest number of four digits exactly 

divisible by 12, 15, 18 and 27 

(A) 5400   (B) 9990 

(C) 9720   (D) 9750 

2. In India, partyless democracy was first 

advocated by  

(A) Jeyaprakash Narayan 

(B) M.N. Roy 

(C) VinobaBhave 

(D) Mahatma Gandhi 

3. Which amendment of the constitution have 

enlarged the size of Indian Constitution?  

(A) 40
th

 Amendment 

(B) 41
st
 Amendment  

(C) 42
nd

 Amendment  

(D) 43
rd

 Amendment 

4. Assertion (A): Lord Ribbon‟s Resolution of 
1882 was hailed on the „Magna Carta‟ of local 
governments  

Reason (R): Lord Ribbon is regarded as the 

“Father of local self-government in India” 

(A) Both A and R are true and R is the correct 

explanation of A 

(B) Both A and R are true but R is not correct 

explanation of A 

(C) A is true but R is false 

(D) A is false but R is true 

5. In which year the Right to Information Act 

came into force 

(A) 2003   (B) 2004 

(C) 2005   (D) 2006 

6. The fundamental Rights contained in the 

constitution have been classified in how 

manycategories 

(A) six   (B) seven 

(C) eight   (D)nine 

7. Question hour refers to 

(A) the first hour of the sitting in both houses 

(B) the second hour of the sitting 

(C)the last hour of the sitting 

(D) the lunch hour of the sitting 

8. The institution of Lokayuktha was created for 

the first time by the state of 

(A) Orissa   (B) Bihar 

(C) Punjab   (D) Maharashtra 

9. Who classified the public goods as a social 

wants and merit wants? 

(A) Prof. Musgrave (B) Prof. Shirras 

(C) Prof. Seligman (D)Prof.Adamsmith 

10. What is NIPFP? 

(A) National Institute of Public Finance and 

Policy 

(B) National Investment of Public Finance and 

Policy 

(C) National Insurance of Public Finance and 

Policy 

(D) National Industrial Public Finance and 

Policy 

11. In 1932, the communal Award was announced 

by the British Prime Minister  

(A) Clement Atlee 

(B) Ramsay Mc. Donald 

(C) Winsten Churchill 

(D) Irwin 

12. To win an election, a candidate needs 
3

4
 of the 

votes cast. If after 
2

3
 of the votes have 

beencounted, a candidate has 
5

6
 of what he 

needs, then what part of the remaining votes 

does hestill need? 

(A) 
1

8
   (B) 

3

8
 

(C) 
1

10
   (D) 

1

4
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13. The value
3

12 .22
+

5

22 .32
+

7

32 .42
+

9

42 .52
+

11

52 .62
+

13

62 .72
+

15

72 .82
+

17

82 .92
+

9

92 .102
is 

(A)
1

100
   (B) 

99

100
 

(C) 1   (D) 
101

100
 

14. A rectangular block 6 cm by 12 cm by 15 cm 

is cut up into an exact number of equal cubes. 

Find the least possible number of cubes. 

(A) 37   (B) 38 

(C) 39   (D) 40 

15. The Citizenship Act 1955, provides how many 

models for acquiring the citizenship of India?  

(A) Six models   

(B) Five models 

(C) Three models  

(D) Two models 

16. Which of the following is a committee on 

Panchayat Raj Institutions appointed by 

former Prime Minister Rajiv Gandhi? 

(A) BalwantrayMehtha Committee 

(B) G.V.K. Rao Committee 

(C) L.M. Singhvi Committee 

(D) Ashok Mehtha Committee  

17. Article 370is related to which of the following 

state?  

(A) Jammu and Kashmir 

(B) Assam 

(C) Meghalaya   

(D)Nagaland 

18. Match List I with II correctly and select the 

correct choice: 

List I List II 

(a) P.N. 

RosentinRodan 

1. Father of India‟s 

Green Revolution 

(b)M.S. 

Swaminathan 

2. Big push 

(c)Disguised 

unemployment 

3. HDI 

 

(d) UNDP 4. Agriculture 

  

 (a) (b) (c) (d) 

(A) 1 2 3 4 

(B) 2 1 4 3 

(C) 3 4 2 1 

(D) 4 3 1 2 

19. The AamAadmiBimaYojana was launched in 

India in 

(A) October, 2005  (B) October, 2006 

(C) October, 2007  (D) October, 2008 

20. NSIC means 

(A) National Small Industries Corporation 

(B) National Service Industries Corporation 

(C) National Savings Industries Corporation 

(D) National State Industries Corporation  

21. According to the Educational census of 2011, 

the overall male literacy rate of Tamil Nadu 

stood at 

(A) 86.8 percent  (B) 80.3 percent 

(C) 73.9 percent  (D) 81.2 percent 

22. Which year Telecommunications Consultants 

India Ltd. (TCIL) was set up by the 

Government of India? 

(A) 1978   (B) 1979 

(C) 1980   (D) 1981 

23. The planet regionnewly explored by NASA‟s 
Cassini spacecraft  

(A) Jupiter   (B) Uranus 

(C) Saturn   (D) Neptune 

24. Which women among these is the chief of 

State Bank of India? 

(A) ChandaKocchar 

(B) Arundhati Bhattacharya 

(C) Shikta Sharma 

(D) Ana Botin 

25. 2017 French Open Women‟s Singles title was 
won by 

(A) JelenaOstapenko 

(B) SimonaHalep 

(C) Venus Williams 

(D) Samantha Stosur 

26. Which state in India has fishing cat as its 

official animal? 

(A) West Bengal  (B) Kerala 

(C) Telangana  (D) Odisha  

27. The best actor (Movie) award at the 2017 

MTV movie and TV awardswas bagged by 

(A) Emma Watson (B) Daniel Kaluuya 

(C) Hugh Jackman (D) Gina Rodriguez 
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28. The best city in the world according to 

Mercer‟s quality of living index ranking 2017 
is  

(A) Zurich   (B) Geneva 

(C) Copenhagen  (D) Vienna 

29. Who is the legal advisor of the Government of 

the state?  

(A) The Attorney General  

(B) The Advocate General 

(C) The Solicitor General  

(D) The Law Minister 

30. The first city in the world to announced an 

“Ultra low emission zone” to tackle rising 
levels of air pollution is 

(A) London  (B) South Korea 

(C) Israel   (D) Australia 

31. 2017 Santosh Trophy was won by  

(A) Goa   (B) West Bengal 

(C) Punjab   (D) Mumbai 

32. Banxing-2 was a micro satellite launched in 

the year 2016 by an experimental space lab in  

(A) China   (B) Russia 

(C) America  (D) Canada 

33. The Brahmos Missile is jointly developed by 

India and 

(A) Russia   (B) Canada 

(C) Athens   (D) Australia 

34. A is a cube of side x, B is a sphere of radius x. 

The ratio of volume of A to volume of B is 

(A) 3:4 π   (B) 3π : 4 

(C) 4π : 3   (D) 4:3π 

35. In a school, there are 800 students and 25 

teachers. If the student is increased to 960 how 

many more teachers should be appointed to 

maintain the student - teacher ratio? 

(A) 4   (B) 5 

(C) 6   (D) 30 

36. Find the value of x if (5x + 15): (2x + 3) = 

10:3 

(A) 3   (B) 4 

(C)-1   (D) -4 

37. An alloy is to contain copper and zinc in the 

ratio 9:4. The zinc required to be melted 

with24kg of copper is: 

(A) 10
2

3
Kg   (B) 10

1

3
Kg 

(C) 9
2

3
 Kg   (D) 9 Kg 

38. The mean proportional between 9 and 25 is 

(A) 9   (B) 25 

(C) 15   (D) 225 

39. A can do a piece of work in 80 days. He works 

at it for 10 days and then B alone finishes the 

remaining work in 42 days. In how much time 

will A and B working together finish the 

work? 

(A) 28 days  (B) 30 days 

(C) 29 days  (D) 31days 

40. A scooter wheel makes 50 revolutions to cover 

a distance of 88m then the radius of the wheel 

is 

(A) 24 cm   (B) 48 cm 

(C) 28 cm   (D) 12 cm 

41. A crate of Mangoes contains one bruised 

mango for every 30 mangoes in the crate. If 3 

out of every 4 bruised mangoes are considered 

unsaleable and there are 12 unsaleable 

mangoes inthe crate, then how many mangoes 

are there in the crate  

(A) 480   (B) 460 

(C) 490   (D) 470 

42. The Title Appar was given to 

Tirunavukkarasar by 

(A) Sekilar   (B) Sundarar 

(C) Manickavasagar (D) Sambandar 

43. Who introduced a new style of Architecture in 

the form of Rock-cut-Temples? 

(A) Nandivarman I 

(B) Nandivarman II  

(C) Mahendravarman I 

(D) Narasimmhavarman I 

44. When Alexander invaded India who among 

the following was the admiral of his fleet? 

(A) Skylax   (B) Nearchus 

(C) Strabo   (D) Arrian 

45. Find the odd man out 

(A) Alberuni  (B) Taranath 

(C) Amir Khusrao  (D) ZiauddinBarani 

46. Where from Rajaji started his Salt Satyagraha 

March to Vedaranyam? 

(A) Madurai  (B) Madras 

(C) Tiruchirapalli  (D) Thanjavur 
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47. The major reason for the decline of congress 

rule in Tamil Nadu in 1967 was  

(A) Food crisis   

(B) RiseofDMK 

(C) Language crisis 

(D) High price of commodities 

48. The Interim government headed by Nehru was 

sworn in on 

(A) June 6, 1946  

(B) June 24, 1946 

(C) August 16, 1946 

(D) September 2, 1946 

49. If (x + l) (x + m) = x
2
 + 4x + 2 find the value 

of (l – m)
2
. 

(A) 6   (B) 4 

(C) 8   (D) 12 

50. Simplify:  1 3
4
× 3

1

7
 −  4 3

8
÷

3

5
  

(A) 4
23

32
   (B) 4

21

32
 

(C) 4
23

31
   (D) 4

22

31
 

51. The values of (a + b) and (a - b) are 7 and 4 

respectively. Then ab is 

(A)
28

3
   (B) 

22

3
 

(C) 
33

4
   (D) 

33

2
 

52. LCM of three different numbers is 120. Which 

of the following cannot be their HCF? 

(A) 8   (B) 12 

(C) 24   (D) 35 

53. A conducting, polymer acting as an LED is 

being used in __________ of mobilephones. 

(A) battery   (B) speakers 

(C) mics   (D) display 

54. In the following rays which is not involved in 

Radio activity? 

(A) X-rays   (B) α– rays 

(C) ȕ -rays   (D) Ȗ- rays 

55. The time taken by the light to reach the earth 

from the sun is 

(A) 10 seconds  (B) 50 seconds 

(C) 100 seconds  (D) 500 seconds 

56. Which of the following has maximum value of 

surface tension? 

(A) water   (B) alcohol 

(C) ether   (D) mercury 

57. Which of the following does not play a role in 

blood clotting? 

(A) Fibrinogen  (B) Platelets 

(C) Thrombin  (D) Albumin 

58. A printer numbers the pages of a book starting 

with 1 and uses 3189 digits in all. How many 

pages does the book have? 

(A) 1000   (B) 1074 

(C) 1075   (D) 1080 

59. Fibonacci sequence is 1,1,2,3,5,8,a,21,34..... 

Then the value of a is  

(A) 11   (B) 14 

(C) 12   (D) 13 

60. The HCF of 35 x
5
 y

3
 z

4
, 49 x

2
yz

3
, 14 xy

2
z

2
 is 

(A) 7x
5
y

3
z

4
  (B) 7x

2
yz

2
 

(C) 7xy
2
z

2
   (D) 7xyz

2
 

61. Which one of the following Article deals with 

financial emergency in Indian constitution? 

(A) Article 352  (B) Article 356 

(C) Article 360  (D) Article 370 

62. An Indian who won two gold medals at the 

2016 Paralympics games 

(A) Deepa Malik  

(B) MariyappanThangavelu 

(C) Varun Singh Bhati  

(D) DevendraJhajharia 

63. The theme for Yoga Day - 2017 is 

(A) Yoga is a meditation 

(B) Yoga for peace 

(C) Health for all   

(D) Yoga for health 

64. The World Day to combat desertification is 

observed every year on 

(A) June 17  (B) August 20 

(C) July 28  (D) June 5 

65. The first country in the world to ban mining of 

metals 

(A) South Africa  (B) El Salvador 

(C) Russia   (D) Guinea 

66. Who is the most followed world leader on 

Facebook? 

(A) Pope Francis  

(B) Amitabh Bachan 

(C) Donald Trump  

(D) NarendraModi 
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67. Where is the headquarters of the Arab 

League? 

(A) Lahore   (B) Islamabad 

(C) Male   (D) Cairo 

68. As per 2017 ICC ODI batting rankings, the 

third place is occupied by  

(A) David Warner  (B) Joe Root 

(C) ViratKohli  (D) AB de Villiers 

69. Why was Imran Khawaja in news recently? 

(A) Vice - Chairman of Planning Commission 

(B) Member Secretary of CMDA  

(C) Deputy Chairman of ICC 

(D) Chairman of AICTE 

70. Match the following with correct answer : 

(a) Parathion 1. thiocarbamate fungicide 

(b) Nabam 2. non-systematic fungicide 

(c)Captan 3.organo phosphorous insecticide 

(d) Carboxin 4. systematic fungicide 

 (a) (b) (c) (d) 

(A) 2 1 3 4 

(B) 3 2 4 1 

(C) 2 4 1 3 

(D) 3 1 2 4 

71. Elements with an atomic number above 

______  are called super heavyelements. 

(A) 104   (B) 103 

(C) 105   (D) 112 

72. Cherenkov counters are 

(A) Mechanical counters  

(B) Scintillation detectors 

(C) Ruby lasers   

(D) Coolidge tubes 

73. The entire sequence of communities that 

successively change in a given area are known 

as 

(A) climax community  

(B) pioneer species 

(C) sere   

(D)xerarchsuccession 

74. Under the following, which one is not the 

method of meaning National Income? 

(A) Income method 

(B) Expenditure method 

(C) Product method 

(D) Circular flow of Income method  

75. Sudden change in the colour of Phosphorous 

Strait in June 2017 is due to 

(A) Phytoplankton Bloom 

(B) Oil Spill Pollution 

(C) Underwater Volcano 

(D) Earthquake in sea 

76. The institution that tops the overall ranking in 

NIRF-2017 is 

(A) Indian Institute of Technology – Madras 

(B) Jawaharlal Nehru University 

(C)Indian Institute of Science, Bengaluru 

(D) Indian Institute of Technology - Kanpur 

77. Pick out a correct statement from the 

followings 

(A) There are more than 3 stop codons 

(B) Morgan and Boveri were proposed the 

location of the genes on a chromosome  

(C) There are 17 genes are found to be present 

in Y chromosome of a man 

(D) The distance between two adjacent 

nucleotides in a DNA molecule is 4.3 A° 

78. The cell theory was proposed by 

(A) M.J. Schleiden and Theodor Schwann 

(B) J.D. Watson and F.H.C. Crick 

(C) F. Jacob and J. Monod 

(D) C.H. Mcleod and H. McCarty 

79. Consider the following statements: 

Assertion (A): Certain seeds are subject to 

anaerobiosis during the first several hours of 

germination when immersed in water 

Reason (R):Plant tissues in atmosphere devoid 

of O2 convert pyruvic acid to CO2 and ethyl 

alcohol 

(A) Both (A) and (R) are individually true and 

(R) is the correct explanation of (A) 

(B) Both (A) and (R) are individually true but 

(R) is not a correct explanation of (A) 

(C) (A) is true but (R) is false 

(D) (A) is false but (R) is true 

80. The major element of the inner core of the 

earth from the following is  

(A) silicon   (B) oxygen 

(C) sulfur   (D) iron 

81. Eskimos are found in 

(A) Tundra Region 
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(B) Coniferous forest region 

(C) Equatorial region 

(D) Tropical and temporate deserts 

82. The river Tapti rises from 

(A) Vindya Range  (B) Satpura Range 

(C) Maikal Hill  (D) Aravalli Range 

83. Which of the followings true during the 4th 

week of development of human fetus? 

(A) Embryo about 2 mm long and Neural 

tubes develops 

(B) Embryo about 5 mm long and forming the 

blood vessel 

(C) Embryo about 12 mm long and eyes and 

ears started to form 

(D) Fetus about 17 mm long and all internal 

major organs are developed 

84. Match the following Algal groups with their 

reserve food : 

(a) Chlorophyta 1. Florideanstarch 

(b) Xanthophyta 2. Starch 

(c) Phaeophyta 3. Laminarin 

(d) Rhodophyta 4. Fats or Leucosin 

 (a) (b) (c) (d) 

(A) 2 4 3 1 

(B) 1 2 3 4 

(C) 4 2 3 1 

(D) 2 3 4 1 

85. Cellulose and Hemicellulose are called dietary 

fibre. They help in increasing the bulk of 

intestinal contents and by stimulating 

_________movements in the large intestine 

(A) Thigmonastic  (B) Phototropic 

(C) Peristaltic  (D) Heliotropic 

86. The vertical up gradient of temperature in the 

atmosphere is called as 

(A) Inversion of temperature  

(B) Saturated temperature  

(C) Lapse rate   

(D) Latent heat 

87. The port which was established as a substitute 

to Surat sea port by British is  

(A) Kandla  (B) Mumbai 

(C) NhovaShiva  (D) Haldia 

88. The diagram used to show the distribution of 

earth‟s solid surface at elevations above and 
below the mean sea level is 

(A) Hypsometric curve 

(B) Lorenze curve 

(C) Clinographic curve 

(D) Frequency curve 

89. Which of the following river flows from West 

to East? 

(A) Damodar River (B) The Son River 

(C) Ken River   (D) Tista River 

90. Which of the following prehistoric site 

unearthed in Tirunelvely region? 

(A) Kayalpattinam (B) Vadamadurai 

(C) Pallavaram  (D) Adichanallur 

91. Who among them was / were the Greek 

ambassadors sent to the court of pataliputra? 

I. Megasthenese 

II. Herodotus  

III. Deimachus 

IV. Dionysios 

(A) I only   (B) I, II, III 

(C) I, III and IV  (D) II and IV only 

92. The sacred books of Jainas are known as 

(A) Tripitakas  (B) Angas 

(C) ZendAvasta  (D) Triratna 

93. Which of the following pair were NOT 

moderates?  

(A) VenkataRamania and Sabapathy  

(B) Sreenivasasastri and Thiyabji 

(C)Chidambaram pillai and Vanchinathan 

(D)Natesan and 

namakkalKavingarRamatmgam 

94. Match the following : 

(a) Desabaktham 1. Annie Besant 

(b) Suyarajyam 2. E.V.R. Periyar 

(c) Kudiarasu 3. Rajaji 

(d) New India 4.Kalyana 

Sundaranar 

 

 (a) (b) (c) (d) 

(A) 4 3 2 1 

(B) 1 2 3 4 

(C) 3 1 4 2 

(D) 2 4 1 3 
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95. The volume of the largest circular cone that 

can be cut of cube whose edge is 14 cm is 

(A) 718.67 cm
3
  (B) 718.76 cm

3
 

(C) 781.67 cm
3
  (D) 781.76 cm

3
 

96. If x: y = 3 : 4 find (4x + 5y): (5x-2y) 

(A) 32:7   (B) 8:7 

(C) 7:4   (D) 34:7 

97. If A‟s salary is 20% less than B‟s salary by 
how much percent is B‟s salary more than 
A‟s? 

(A) 15%   (B) 20% 

(C) 25%   (D) 30% 

98. Find the cost of carpeting a room 13 m long 

and 9 m broad with a carpet 75 cm wide if one 

metre of carpet costs Rs. 12.40 

(A) Rs. 1934.40  (B) Rs. 1935.40 

(C) Rs. 1936.40  (D) Rs. 1937.40 

99. A cube of edge 15 cm is immersed completely 

in a rectangular vessel containing water. If the 

dimensions of the base vessel are 20 cm x 

15cm, find the rise in water level 

(A) 10.25 cm  (B) 11.25 cm 

(C) 11 cm   (D) 10 cm 

100. A certain of money amounts to Rs. 8,880 

in 6 years and Rs. 7,920 in 4 years 

respectively. Find the rate percent (Assume 

interest is simple interest). 

(A) 10 %   (B) 12 % 

(C) 15%   (D) 8% 
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GENERAL TAMIL   

1 C 21 B 41 C 61 A 81 B 

2 D 22 D 42 B 62 B 82 A 

3 A 23 B 43 A 63 C 83 D 

4 B 24 C 44 C 64 D 84 A 

5 B 25 B 45 D 65 C 85 D 

6 A 26 C 46 C 66 C 86 C 

7 B 27 D 47 B 67 A 87 A 

8 D 28 A 48 B 68 B 88 D 

9 B 29 B 49 C 69 B 89 B 

10 C 30 B 50 B 70 C 90 A 

11 C 31 D 51 C 71 B 91 B 

12 B 32 C 52 C 72 C 92 D 

13 A 33 A 53 C 73 B 93 D 

14 D 34 C 54 C 74 B 94 A 

15 C 35 B 55 A 75 B 95 D 

16 B 36 A 56 B 76 D 96 B 

17 C 37 A 57 B 77 B 97 C 

18 C 38 B 58 A 78 B 98 C 

19 A 39 B 59 C 79 B 99 A 

20 A 40 B 60 B 80 C 100 C 
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